Figure 7A: Survival of RIP1-Tag5 mice (weeks)

Untreated 25.7 TNF-CSG 5 ug 33.6
Untreated 27 TNF-CSG 5 ug 29.9
Untreated 27.1 TNF-CSG 5 ug 32.6
Untreated 27.3 TNF-CSG 5 ug 32.7
Untreated 27.4 TNF-CSG 5 ug 32.3
Untreated 27.9 TNF-CSG 5 ug 30.7
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Untreated 30 TNF-CSG 5 ug 31.9
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Figure 7B: Survival of 4T1 tumour-bearing mice (days)

Untreated 16 TNF CSG 2 ug 22
Untreated 18 TNF CSG 2 ug 23
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Untreated 18 TNF CSG 2 ug 25
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Figure 7C: tumour volume

Untreated CSG TNF-CSG 2 ug
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One-way ANOVA nonparametric multiple comparison

Kruskal-Wallis test

Number of families 1

Number of comparisons 3

Alpha 0.05

Dunn's multiple

comparisons test Mean rank diff. |Significant? Summary Adjusted P Value
Untreated 5 vs. CSG 2.1|No ns >0.9999

Untreated 5 vs. TNF-CS( 11.56|Yes * 0.0152

CSG vs. TNF-CSG 9.464|Yes * 0.0139

Test details Mean rank 1 Mean rank 2 |Mean rank diff. nl n2
Untreated 5 vs. CSG 19.2 17.1 2.1 5 10
Untreated 5 vs. TNF-CS( 19.2 7.636 11.56 5 11
CSG vs. TNF-CSG 171 7.636 9.464 10 11

Figure 7D: FACS anaylsis of granzyme B cytotoxic T cells and regulatory CD4 T cells
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